
DATE  : 

31 PKG'S

:  MU TRAY

:  DA-C-3001 TETRA EXTRACTOR

TOTAL GROSS WEIGHT :  43,240 KGS

TOTAL CBM :  CBM

NET

WEIGHT
GROSS  WEIGHT

L W H kgs kgs

HMT-001 1 1 1101 UPCOMER ASSEMBLY 275 170 94 1,000 1,220 4.395

7 7 2101 UPCOMER ASSEMBLY

18 12 3101 UPCOMER ASSEMBLY

60 20 111-1 CLAMPING STRIP

60 20 111-2 CLAMPING STRIP

FINAL PACKING LIST

UOP FIELDWORK PROCEDURE

UOP INSTALLATION DRAWINGS

HMT-002 18 6 3101 UPCOMER ASSEMBLY 275 170 94 1,000 1,220 4.395

15 14 4101 UPCOMER ASSEMBLY

60 20 111-1 CLAMPING STRIP

60 20 111-2 CLAMPING STRIP

HMT-003 15 1 4101 UPCOMER ASSEMBLY 275 170 94 1,000 1,220 4.395

7 7 5101 UPCOMER ASSEMBLY

2 2 6101 UPCOMER ASSEMBLY

1 1 7101 UPCOMER ASSEMBLY

9 9 8101 UPCOMER ASSEMBLY

60 20 111-1 CLAMPING STRIP

60 20 111-2 CLAMPING STRIP

HMT-004 1 1 1102 UPCOMER ASSEMBLY 352 170 94 1,080 1,340 5.625

7 7 2102 UPCOMER ASSEMBLY

18 12 3102 UPCOMER ASSEMBLY

60 20 112-1 CLAMPING STRIP

60 20 112-2 CLAMPING STRIP

HMT-005 18 6 3102 UPCOMER ASSEMBLY 352 170 94 1,080 1,340 5.625

15 14 4102 UPCOMER ASSEMBLY

60 20 112-1 CLAMPING STRIP

60 20 112-2 CLAMPING STRIP

HMT-006 15 1 4102 UPCOMER ASSEMBLY 352 170 94 1,080 1,340 5.625

7 7 5102 UPCOMER ASSEMBLY

2 2 6102 UPCOMER ASSEMBLY

Lot Details: 24035-246

PKG. NO.
QUANTITY

REQUIRED

QUANTITY

PER

PACKAGE

PART NO. DESCRIPTION
SIZE (cm) QTY. BAGS

(M3)

UNIT PRICE

(US $)

TYPE OF TRAY

ITEM NO. April. 11, 2024

146.103

1  of  5

TOTAL NO OF PACKAGES:



NET

WEIGHT
GROSS  WEIGHT

L W H kgs kgs

PKG. NO.
QUANTITY

REQUIRED

QUANTITY

PER

PACKAGE

PART NO. DESCRIPTION
SIZE (cm) QTY. BAGS

(M3)

UNIT PRICE

(US $)

1 1 7102 UPCOMER ASSEMBLY

9 9 8102 UPCOMER ASSEMBLY

60 20 112-1 CLAMPING STRIP

60 20 112-2 CLAMPING STRIP

HMT-007 1 1 1103 UPCOMER ASSEMBLY 391 170 94 1,140 1,430 6.248

7 7 2103 UPCOMER ASSEMBLY

18 12 3103 UPCOMER ASSEMBLY

60 20 113-1 CLAMPING STRIP

60 20 113-2 CLAMPING STRIP

HMT-008 18 6 3103 UPCOMER ASSEMBLY 391 170 94 1,140 1,430 6.248

15 14 4103 UPCOMER ASSEMBLY

60 20 113-1 CLAMPING STRIP

60 20 113-2 CLAMPING STRIP

HMT-009 15 1 4103 UPCOMER ASSEMBLY 391 170 94 1,140 1,430 6.248

7 7 5103 UPCOMER ASSEMBLY

2 2 6103 UPCOMER ASSEMBLY

1 1 7103 UPCOMER ASSEMBLY

9 9 8103 UPCOMER ASSEMBLY

60 20 113-1 CLAMPING STRIP

60 20 113-2 CLAMPING STRIP

HMT-010 1 1 1104 UPCOMER ASSEMBLY 405 170 94 1,180 1,490 6.472

7 7 2104 UPCOMER ASSEMBLY

18 12 3104 UPCOMER ASSEMBLY

60 20 114-1 CLAMPING STRIP

60 20 114-2 CLAMPING STRIP

HMT-011 18 6 3104 UPCOMER ASSEMBLY 405 170 94 1,180 1,490 6.472

15 14 4104 UPCOMER ASSEMBLY

60 20 114-1 CLAMPING STRIP

60 20 114-2 CLAMPING STRIP

HMT-012 15 1 4104 UPCOMER ASSEMBLY 405 170 94 1,180 1,490 6.472

7 7 5104 UPCOMER ASSEMBLY

2 2 6104 UPCOMER ASSEMBLY

1 1 7104 UPCOMER ASSEMBLY

9 9 8104 UPCOMER ASSEMBLY

60 20 114-1 CLAMPING STRIP

60 20 114-2 CLAMPING STRIP

HMT-013 1 1 1105 UPCOMER ASSEMBLY 398 170 94 1,160 1,450 6.360

7 7 2105 UPCOMER ASSEMBLY

18 12 3105 UPCOMER ASSEMBLY

2  of  5



NET

WEIGHT
GROSS  WEIGHT

L W H kgs kgs

PKG. NO.
QUANTITY

REQUIRED

QUANTITY

PER

PACKAGE

PART NO. DESCRIPTION
SIZE (cm) QTY. BAGS

(M3)

UNIT PRICE

(US $)

60 20 115-1 CLAMPING STRIP

60 20 115-2 CLAMPING STRIP

HMT-014 18 6 3105 UPCOMER ASSEMBLY 398 170 94 1,160 1,450 6.360

15 14 4105 UPCOMER ASSEMBLY

60 20 115-1 CLAMPING STRIP

60 20 115-2 CLAMPING STRIP

HMT-015 15 1 4105 UPCOMER ASSEMBLY 398 170 94 1,160 1,450 6.360

7 7 5105 UPCOMER ASSEMBLY

2 2 6105 UPCOMER ASSEMBLY

1 1 7105 UPCOMER ASSEMBLY

9 9 8105 UPCOMER ASSEMBLY

60 20 115-1 CLAMPING STRIP

60 20 115-2 CLAMPING STRIP

HMT-016 1 1 1106 UPCOMER ASSEMBLY 375 170 94 1,100 1,380 5.993

7 7 2106 UPCOMER ASSEMBLY

18 12 3106 UPCOMER ASSEMBLY

60 20 116-1 CLAMPING STRIP

60 20 116-2 CLAMPING STRIP

HMT-017 18 6 3106 UPCOMER ASSEMBLY 375 170 94 1,100 1,380 5.993

15 14 4106 UPCOMER ASSEMBLY

60 20 116-1 CLAMPING STRIP

60 20 116-2 CLAMPING STRIP

HMT-018 15 1 4106 UPCOMER ASSEMBLY 375 170 94 1,100 1,380 5.993

7 7 5106 UPCOMER ASSEMBLY

2 2 6106 UPCOMER ASSEMBLY

1 1 7106 UPCOMER ASSEMBLY

9 9 8106 UPCOMER ASSEMBLY

60 20 116-1 CLAMPING STRIP

60 20 116-2 CLAMPING STRIP

HMT-019 1 1 1107 UPCOMER ASSEMBLY 320 170 94 1,060 1,290 5.114

7 7 2107 UPCOMER ASSEMBLY

18 12 3107 UPCOMER ASSEMBLY

60 20 117-1 CLAMPING STRIP

60 20 117-2 CLAMPING STRIP

HMT-020 18 6 3107 UPCOMER ASSEMBLY 320 170 94 1,060 1,290 5.114

15 14 4107 UPCOMER ASSEMBLY

60 20 117-1 CLAMPING STRIP

60 20 117-2 CLAMPING STRIP

HMT-021 15 1 4107 UPCOMER ASSEMBLY 320 170 94 1,060 1,290 5.114

3  of  5



NET

WEIGHT
GROSS  WEIGHT

L W H kgs kgs

PKG. NO.
QUANTITY

REQUIRED

QUANTITY

PER

PACKAGE

PART NO. DESCRIPTION
SIZE (cm) QTY. BAGS

(M3)

UNIT PRICE

(US $)

7 7 5107 UPCOMER ASSEMBLY

2 2 6107 UPCOMER ASSEMBLY

1 1 7107 UPCOMER ASSEMBLY

9 9 8107 UPCOMER ASSEMBLY

60 20 117-1 CLAMPING STRIP

60 20 117-2 CLAMPING STRIP

HMT-022 60 60 1001 TRAY DECK SEGMENT 297 67 81 1650 1730 1.612

60 60 1008 TRAY DECK SEGMENT

60 60 1009 TRAY DECK SEGMENT

HMT-023 60 60 1002 TRAY DECK SEGMENT 364 54 62 1870 1950 1.219

60 60 1007 TRAY DECK SEGMENT

HMT-024 60 60 1003 TRAY DECK SEGMENT 397 54 62 2190 2280 1.329

60 60 1006 TRAY DECK SEGMENT

HMT-025 60 60 1004 TRAY DECK SEGMENT 405 54 62 2330 2420 1.356

60 60 1005 TRAY DECK SEGMENT

HMT-026 1 1 621 12 INCH PIPE ASSEMBLY 362 180 85 1380 1680 5.539

1 1 601 12 INCH PIPE ASSEMBLY

2 2 603 8 INCH PIPE ASSEMBLY

2 2 604 8 INCH PIPE ASSEMBLY

2 2 605 8 INCH PIPE ASSEMBLY

2 2 606 8 INCH PIPE ASSEMBLY

2 2 607 8 INCH PIPE ASSEMBLY

2 2 608 8 INCH PIPE ASSEMBLY

2 2 609 8 INCH PIPE ASSEMBLY

HMT-027 3 1 611 6 INCH PIPE ASSEMBLY 394 114 70 600 820 3.144

8 2 613 4 INCH PIPE ASSEMBLY

8 2 614 4 INCH PIPE ASSEMBLY

8 2 615 4 INCH PIPE ASSEMBLY

8 2 616 4 INCH PIPE ASSEMBLY

8 2 617 4 INCH PIPE ASSEMBLY

8 2 618 4 INCH PIPE ASSEMBLY

8 2 619 4 INCH PIPE ASSEMBLY

HMT-028 3 1 611 6 INCH PIPE ASSEMBLY 394 114 70 600 820 3.144

8 2 613 4 INCH PIPE ASSEMBLY

8 2 614 4 INCH PIPE ASSEMBLY

8 2 615 4 INCH PIPE ASSEMBLY

8 2 616 4 INCH PIPE ASSEMBLY

8 2 617 4 INCH PIPE ASSEMBLY

8 2 618 4 INCH PIPE ASSEMBLY

8 2 619 4 INCH PIPE ASSEMBLY

4  of  5



NET

WEIGHT
GROSS  WEIGHT

L W H kgs kgs

PKG. NO.
QUANTITY

REQUIRED

QUANTITY

PER

PACKAGE

PART NO. DESCRIPTION
SIZE (cm) QTY. BAGS

(M3)

UNIT PRICE

(US $)

HMT-029 3 1 611 6 INCH PIPE ASSEMBLY 394 114 70 600 820 3.144

8 2 613 4 INCH PIPE ASSEMBLY

8 2 614 4 INCH PIPE ASSEMBLY

8 2 615 4 INCH PIPE ASSEMBLY

8 2 616 4 INCH PIPE ASSEMBLY

8 2 617 4 INCH PIPE ASSEMBLY

8 2 618 4 INCH PIPE ASSEMBLY

8 2 619 4 INCH PIPE ASSEMBLY

HMT-030 1 1 620 6 INCH PIPE ASSEMBLY 394 114 70 600 820 3.144

8 2 613 4 INCH PIPE ASSEMBLY

8 2 614 4 INCH PIPE ASSEMBLY

8 2 615 4 INCH PIPE ASSEMBLY

8 2 616 4 INCH PIPE ASSEMBLY

8 2 617 4 INCH PIPE ASSEMBLY

8 2 618 4 INCH PIPE ASSEMBLY

8 2 619 4 INCH PIPE ASSEMBLY

HMT-031 2 2 600 GASKET 217 114 75 1000 1100 1.855

5 5 610 GASKET

15 15 602 GASKET

60 60 612 GASKET

4,914 4,914 30 RING CLIP

567 567 3/8" x 1.0" LG HEX HEAD BOLT

159 159 1/2" x 2.0" LG HEX HEAD BOLT

588 588 5/8" x 4.0" LG STUD

34 34 3/4" x 4.5" LG STUD

14 14 7/8" x 5.0" LG STUD

17,703 17,703 3/8" HEX NUT

159 159 1/2" HEX NUT

1,176 1,176 5/8" HEX NUT

68 68 3/4" HEX NUT

26 26 7/8" HEX NUT

17,703 17,703 3/8" LOCKWASHER

159 159 1/2" LOCKWASHER

1,176 1,176 5/8" LOCKWASHER

68 68 3/4" LOCKWASHER

26 26 7/8" LOCKWASHER

2,898 2,898 3/8" FLAT WASHER (1" O.D.)

318 318 1/2" FLAT WASHER

3,150 3,150 .438 I.D. x 1.75 O.D. FLAT WASHER

TOTAL 35,980 43,240 146.103

5  of  5


